spectrum number fa (107" erg em™2s7'47") fa (1077 erg em™2s7'47")

& and x

Mean Spectrum

rm387 RS2k e s 908 /e
T T _'I_ I T T T T I T T T T I T T _'I_ T

< | . o ]
g \ . I. . . . AVG
o | ! . ! | cont
1| . L] ' Fez
\ ' v f BLR

o

8 . A NLR

1500
A@) z=

2000
2.42579

3000

RMS Spectrum raw

rm387

| |

N ﬂll ’lﬂ\uﬂ Eﬁh i [l

° i

1500 zooo
A (R) z = 2.42579

BLR 6910 NLR son km/s _
T Ty cont

—

I T T T T T T
—_—

2

1.5

1

x(\t) = ( Data — Model ACsF ) / o
X*/(407086—5327)=0.984=>1.008

- R
I ".’w‘“i“f““]\‘j\\‘.‘-‘“m I J\‘H‘g“”‘:‘\\”‘g‘h;“"g"“‘“‘“:“1' i el "“' i ‘{\1“"‘.1‘13:‘,"‘”3‘3:‘:“‘513“1“:‘:-';.‘ i ““‘"”‘”‘ i N}“\ ‘\“ﬁ"‘@"”w ‘JJ}‘:\‘J-‘{fof‘l\;“-‘{\f“{‘ \]h‘sw | “]““;("“:;,‘:;‘ ~
AR SO R R
S E R et e A A L Wl -
AT e TSt el
ety i e e A L R i
”'\‘\N“'fm'u“l‘“‘“’ i "”T i AL A ”“.'\“ I \‘"\\“”\‘\”""”“ﬂ\‘\'ﬁ‘\ ‘Hll““‘\:\‘“V‘\“\:‘ﬁ,nu
Wi h'm ‘m e \ ] " Hu”‘\\uw m“”"wu ey m.\um i
o B TR e
f“lr\:‘e“‘f[\‘ﬁi‘-,'{ﬂ“‘1““1“”‘[;“ i '1\J‘fw"‘b“\\“‘”"‘[““j“‘\\‘f‘;“‘-'\y ‘ 'ﬁw“l‘ﬁ!‘wuuw1“‘w““‘“”\"“j“_‘{"ﬁ‘\“‘ (‘, ! ‘.”‘ ey “‘\“:“ij‘ﬂ‘\j}{’eﬁ“""-“,{u]‘h}““u
i "v“‘w\‘u“\‘“‘!““L“ B A s R T
‘}‘”‘""w‘ﬁu‘u-‘-u“\‘i\“}l"‘n‘“H‘”(‘““[1\1“"“\"‘ ”“““\”“"“f]"‘l&f‘lﬂ” ‘lfo\‘uwm“\‘\“‘“ i "“J‘\!vf“"“l“"u’l““"\{tﬁ”“‘\ !“ "‘H b
= pin U R o ||
H‘IVH | u“”‘w‘“‘u\‘\“‘j“;““‘!“"ﬂ‘@“j‘\“\‘-:“‘]‘-"‘d ".\““m\“u‘.‘ul‘c‘lu”‘h\“:::“N:H:::Hm “sslb"l;S}:S‘J}“rif““J“‘i‘J‘L“wﬂ:‘H.I“‘?ww '
it T i
“‘H‘v\\\‘\'\“\u\‘m i SRR “‘“‘"‘"““u\"‘:ﬁ“g“”‘."‘}\W I 1
1500 2000 3000,
bad:1605=0.39% A (R) z = 2.42579 e
4 = 0.016(23) x = 0.918(79) => 0.918(79)
rm387 med(mad) ACF
= = == =1 =
ol — —. . — —
| L] 1 i ILE
) = .“] g - s -—-v-"ﬂmw \ .
" ' o ™
T SR T g e o iy
o . . o
<} e ' o .
o

3009 00

1<-6.00

1500
A@)z=

2000
2.42579

f) (10717 erg em™2s7'87")

BLR

& and x

Continuum Lightcurve

10508 )

13664 ) 17788 ) 23138

30108

rm387 med(mad)% c5
—— — —
Ac(1778R) 5.4(11.4)% S/N 66
Fo
=

)
Ac %

1do

Joo"

7000

7500 8000

MJD — 2450000

BLR Lightcurve

8500

9000

T T T T T T T T T T T
w L 4
ol 4
o 4
P R B R 1 . 1
7000 7500 8000 8500 9000
MJD — 2450000
Phot Corrections
rm387 med(mad)% Ap 1
T T T T T T T T T L
Ap 100.00(1.09)% S/N —8.4
Prior(Ap) 5.0 %
N - -

0.8

7500 8000

MJD — 2450000

0.0154(63) x = 0.914(18) => 0.914(18)

0.5
T

med(mad)

A -
7000

R — A -
7500 8000
MJD — 2450000



